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1. The sealed question paper booklet containing 50 questions enclosed with O.M.R. Answer Sheet is given to you.
2. Verify whether the given question booklet is of the same subject which you have opted for examination.
3. Open the question paper seal carefully and take out the enclosed O.M.R. Answer Sheet outside the question
booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill up the details in the form
as instructed, you will be personally responsible for consequences arising during evaluating your Answer
Sheet.
During the examination:
a) Read each question carefully.
b) Determine the Most appropriate/correct answer from the four available choices given under each
question.
c) Completely darken the relevant circle against the Question in the O.M.R. Answer Sheet. For
example, in the question paper if “C” is correct answer for Question No.8, then darken against Sl. No.8 of
O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. @ . @ (Only example) (Use Ball Pen only)

5. Rough work should be done only on the blank space provided in the Question Booklet. Rough work should

not be done on the O.M.R. Answer Sheet.

If more than one circle is darkened for a given question, such answer is treated as wrong and no mark will

be given. See the example in the O.M.R. Sheet.

The candidate and the Room Supervisor should sign in the O.M.R. Sheet at the specified place.

Candidate should return the original O.M.R. Answer Sheet and the university copy to the Room Supervisor

after the examination.

9. Candidate can carry the question booklet and the candidate copy of the O.M.R. Sheet.

10. The calculator, pager and mobile phone are not allowed inside the examination hall.

11. If a candidate is found committing malpractice, such a candidate shall not be considered for admission to
the course and action against such candidate will be taken as per rules.

12.Candidates have to get qualified in the respective entrance examination by securing a minimum of

8 marks in case of SC/ST/Cat-I Candidates, 9 marks in case of OBC Candidates and 10 marks in case
of other Candidates out of 50 marks.

INSTRUCTIONS TO FILL UP THE O.M.R. SHEET
There is only one most appropriate/correct answer for each question.
For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to
alter it.
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3. Circle should be darkened completely so that the alphabet inside it is not visible.
4. Do not make any unnecessary marks on O.M.R. Sheet.
5. Mention the number of questions answered in the appropriate space provided in the O.M.R. sheet

otherwise O.M.R. sheet will not be subjected for evaluation.
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1)

2)

3)

Who started “The Self-Respect movement?
(A) RgaRam Mohan Ral

(B) DayanandaSaraswathi

(C) JyothibaPhule

(D) Periyar E.V. Ramaswamy

@3@7@65 w@ow@o&m& TOTORATITTITIY?
(A) TIZTINT BREDTS TIOSF

(B) mosmTom ®TFS

(C) ¥nedwe B

(D) 00T 8.8, TOTRY

Who suggested the “ The Policy of Isolation” for the development of the tribal
communities?

(A) Verier Elwin (B) Takkar Bapa

(C) Ghurye (D) PanditNehru

wcé%@s% DRBNTONNY @@ﬁe@pmﬁ ‘@éée%@m @eéoﬁam; TRWITRTON?
(A) PooT” 297 (B) @30 o

(C) 300%F (D) Zore JSTH

Thetwo Indian Tribes which still practice polyandry are—

(A) BhilandKhas (B) Kadaisand Teruvas

(C) Todas and Khari (D) Khari and Ullads

EPTBIY QODNR WIDTSEE eszéd%odo?nol TRODH DT LRTFDRPOTIT—
(A) & ) oo (B) wom003y w03 ItdweE®

(C) Becmor D 090 (D) 2500 =) WA
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4)  Which among of thefollowing is achieved status?

(A) Sex (B) Age
(C) Marital (D) Caste
31 SUNIPYNYY IR RLRT £0ZR?

(A) Oon (B) cdzp
(C) Fmois (D) =0

5) Namean unorganized group

(A) Family (B) Friends

(©) Party (D) Crowd

WIOTUE MHOT, &9

(A) oW (B) RAp&zdd
(C) =3 (D) xz=oTses

6) Who isthe propounder of cultural lag theory?

(A) Ogburn (B) Mac lver
(C) E.B.Tylor (D) Max Weber
“mo:“%@% 0 ePT” ﬁq@poécs T ETETTITD?

(A) esnfwss (B) [nF 2w
(C) .. &eoT® (D) =»F, PSwo

7)  Community development programmewas launched inIndiain

(A) 1947 (B) 1950
(C) 1952 (D) 1954
LOTBTY AOTNTOONE @&Sﬁ@@p ROV VNN 20N BOTTR.
(A) 1947 (B) 1950
(C) 1952 (D) 1954

(P.T.0)
M-5410 3]



8) Durkheim’'s concept of mechanical solidarity isfoundin

(A) Peasant societies (B) Tribal societies

(C) Commercial societies (D) Modernindustrial societies
BDFOTHT "800 0FINI,” TWOTON FOW WIDYTD.

(A) o ATPRNTY (B) womze) ARPRNTY

(C) =0 BBPRNTY (D) =3 3mods IBRENTY

9) Which among thefollowing isknown as electronic city?

(A) Mysuru (B) Gulbarga
(C) Dhawad (D) Bangaore
83 BYNIYNTY CIPRTR, @@2@3? RES DTITI?
(A) SHFERT (B) mons
(C) otz (D) 2onsed

10) Ashok joined a company as an accounts assistant. Shortly he got promoted as
finance manager. Thisisan example of -

(A) Vertica mobility (B) Spatid mobility
(C) Horizonta mobility (D) Intra- generationa mobility

SRINIG 50@80&@056@ @§ DTOONTION %@5% 2030 BTIOBT 33 TEITORD
wéw@pw%mﬁ 28 JRONT. Qd% VTOBTTH DO0TT —

(A) ©0w33 BOZ (B) @ed3 B3
(C) B=5T0BT 8BS (D) ©033 2e9on B0

11) Thebook “India’schanging village” iswritten by,

(A) M.N. Srinivas (B) S.C. Dube
(C) K.M.Kapadia (D) A.R.Desa
"QOBONT” 280OTY BT Q0L NOF WITRIT.

(A) 20.057°. 503 (B) «7.2. w0ed
(C) 3.20. 3TRROD (D) ».e3T°. TSemoow
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12)

13)

14)

15)

help to meet the basic needs of society.

(A) Organizations (B) Socia groups
(C) Socid institutions (D) Interactions
RBPRT RO WNZINTD, QWEORLY ATIOD BWRWIHT.
(A) zoTeadned (B) =o&m50238 mYOTOND
(C) ==wRs ﬁoi@ﬁ% (D) @o8030dhnwh

Who studied India svillagesin scientific manner for thefirst time?

(A) K.Eshwaran (B) SirHenry Maine

(C) S.C. Dube (D) M.N.Srinivas

OTBT BYNTI, BRLPPTO 230N a’%ejza@agbémﬁ VFODNT TPRTBITITL?
(A) 8. =538 (B) =" D [T

(C) 7.8, e (D) 20.07°. 507

Which of the following isnot a characteristic of culture?

(A) Itisshared (B) Itistransmitted

(C) ltisdtatic (D) Itislearnt

88 FSNIYNYY 0IR)T xoxé@éoda OTEBY?

(A) 2D BOwWBRTIMIT (B) > Jror RIS
C) =m R T3 (D) 2w 393003,

A social system in which institution dominated by maleisreferred to as

(A) Patriarchy (B) Malecentric

(C) Madechauvinism (D) Patricide

2:0TH ATWEE FHHHODYS FOFOWD THIMR TRWOF 2N ST, FECLIZITD.
(A) TR T (B) ooz deol@

(C) ©RTT0ETeT VR TN (D) 223,

(P.T.0)
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16) Satyashodhak samg is-
(A) Reformmovement
(C) Radica movement
BBIZReTT ATI0%—
(A) RTeTmo BHRP
(C) 8exmman B¥hTP

(B)
(D)

(B)
(D)

Protect movement
Revolutionary movement

SEIAIRISOIRA VoV
08300 WY
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17) Who among the following thinkers introduced “Rules of Sociological Method”
to carry out the scientific study of society?

(A) EmileDurkheim
(C) Herbert Spencer

(B)
(D)

Auguste Comte
Karl Marx

33 FIPNT OIom WOIIL AWIOWWI, %&g@smﬂ @tjéo:bs [PBLY TR,
ST ARCATRTOBTS T VT, VOWATIT?

(A) Q0S8 BDFO
(C) mwrers II0°

(B)
(D)

SN BT
ed e
TOCFE :msff

18) Who wrote the book “ The poverty of Philosophy?

(A) EmileDurkheim
(C) Herbert Spencer

(B)
(D)

Auguste Comte
Karl Marx

"D TRBWE BT POOIP” D0V ROFEI, WITRTOT?

(A) 0SB BDFO
(C) mwrers II0°

(B)
(D)

19) Who isthe “Father of Indian Sociology”?

(A) M.N. Srinivas
(C) AR.Desa

(B)
(D)

TSN ARPVRTVAT LToenTd O3

=

(A) 0.0, SeQe0F*

(C) .37, Bemood
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(B)
(D)

SN T
ed ed
TOOFE msff

GS. Ghurye
Iravati Karve
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20)

21)

22)

23)

Find out from the following Comte’s scheme of hierarchy of science.

(A) Mathematics, Astronomy, Physics, Chemistry, Biology, Sociology
(B) Mathematics, Physics, Astronomy, Chemistry, Biology, Sociology
(C) Sociology, Biology, Chemistry, Physics, Astronomy, Mathematics
(D) Sociology, Chemistry, Mathematics, Physics, Astronomy, Biology

83 IINIPNYY 8ee[TT=T QYN BeedesTE0mR), O

(A) ﬁs@émg, @M@@émr_j ?ﬁémg dmojasmz_’g z%ewmg, DRPLTOE
(B) ﬁs@émg, zﬁaémg mmw@mg, dmojasmz_’g z%ewmg, x:masmg
(C) ARoowzoR, STy, CAOONTIOF, LPTIF, DRRYIT, NS0T
(D) ::mmm:_’z dmoﬁogmg més@o%;, ?ﬁémé @amw@m‘éj wewmi

Who saysthat “Manisasocia animal”?

(A) Arigtotle (B) Plato

(C) Mac Iver and Page (D) Karl Marx
TNIT TOWIVRT 20N NOTN HCPTITTITYD

(A) womuer (B) Feedwe

(C) HZRT* ==y e (D) mor S»FF

According to Mac Iver and Page which one of the following is not included in
community sentiments.

(A) We-feding (B) Role-feding

(C) Dependency feeling (D) Hatredfeding

SDF[OT BY FeeF TS 83 FINTYNTY CIPRHTH TOTNTIVOWT GOTHCIINY?
(A) DY ONFT PRI (B) =03 230w

(C) v=oT ZRTS (D) dexw g3

Who defined sociology isthe ‘ Science of Institution’?

(A) Auguste Comte (B) Haber Mart
(C) Karl Marx (D) EmileDurkheim
5&@&%3553@1 ﬁoﬁ@ﬁ@é 5383@3(5 DO méméa%dwmda?
(A) Nz, 8057, (B) wo° TweFs
(C) moF SR (D) Qened BDFO

(P.T.0)
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24) The practice of holding land in joint was known as

(A) Zamindari System (B) Jagirdari System
(C) Rayatvari System (D) Mahavari System
BRI, BWORIITN TROOTH ;-’xé)@ﬁ

(A) 0eTO TG (B) @NeTftood TG
(C) o0 T8 (D) @0 TG

25) Who introduced the concept of “Dominant Caste”?

(A) M.N. Srinivas (B) A.R.Desai
(©) GS. Ghurye (D) Iravathi Karve
TO 208 wa%géodamq TOLIONRITIRZTO?

(A) 0.7, SeQe0F° (B) ».e5T°. Semoo
(C) z.o%. FOodF (D) 2Tome I

26) In which of the following year “The protection of women from domestic
violence act” brought into force.

(A) 2004 (B) 2005

(C) 2006 (D) 2007

33 INT I JIRFTY D TRTY ST PRI T BRIDAF w0NS
T VON STCRONDY?

(A) 2004 (B) 2005

(C) 2006 (D) 2007

27) Which of thefollowing isnhot a characteristic of community?

(A) Définiteterritories (B) Wefeding

(C) Cultura similarity (D) Sdf-sufficiency

33 FYNIYNTY CIPPYT FTNTONT ©BE0TY?

(A) DOFE ITe3 (B) ST 200 GRT
(©) mo:’g@% TOTE (D) mezmwows
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28) Which of the following system expresses a perfect inter caste relationship?

(A) Guildsystem (B) Jgjamani system

(C) Barter system (D) Putting out system

88 ISNIYNYY 0350 wé:ﬁ@ ©WOZT 23S FOWOPV, ARWITTI?
(A) N wé:ﬁ@ (B) o2& zgwﬁ@

(C) S= DIToD 52@;;@ (D) =vegorr & zg@ﬁ@

29) Which one of the following is not Bio-social aspects of population?

(A) Fertility (B) Migration

(C) Mortdity (D) Morbidity

33 FENTPYNTY CIPPYW BITOBOD T TRIRT WOTRY?
(A) =933 (B) =o3

(C) =»oew (D) @%@

30) Whenagirl of the higher caste marriesaboy from the lower caste, it isknown as-

(A) Lovemarriage (B) Self- choicemarriage

(C) Anuloma (D) Pratiloma

B LIVEOH TN FFWSOD TRNT), VWTTORYTR, 83 IYNT0T
PO TOTR.

(A) e Qo (B) B-w0d dwem

(C) DB (D) mednewd

31) The maximum conditionsto the process of socialization in general comes from.

(A) School (B) Teacher

(C) Community (D) Family
TOWRION NOT LT To:ILETTd TFOD FOTRITIZHT.
(A) % (B) evsmoinod
(C) ==0Ted (D) medow

(PT.0)
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32)

33)

34)

35)

The basic form of division of labour in traditional society is

(A) Occupation (B) Political
(C) Intdlectud (D) Caste
ROTEICH {RTZTY FAFREOD &R T

(A) wvddeen (B) Todecd
© m@pﬁoé% (D) =08

The first censusin India was conducted in

(A) 1872 (B) 1891
(C) 1901 (D) 1911
PO03RY VAT HINE IET [IE

(A) 1872 (B) 1891
(C) 1901 (D) 1911

Who opined “Socia reformersin India has few friends and many critics?
(A) A.R.Desai (B) M.N. Srinivas
(C) B.R. Ambedkar (D) YogendraSingh

“0BTY IIPH AWPTTD  FOFY A eLITZ, WWH) TOFY DWTFIOD,

arao@moé” @dm& QTN ATITTOT?
(A) 2.8T°. Bemoow (B) 20.07°. 5007
(C) R.uT°. wodews® (D) dwericom xon®

Which among thefollowing tribeinitiated the Jharkhand Movement?

(A) Bodo (B) Bhil

(C) Senthd (D) Birhor

33 FPNT O3RN &DC?%@% 2303DFOT° 33%5@me STORAZD?
(A) Beckdoe (B) ee*

(C) =mozoer (D) X

M-5410 [10]



36) The scheduled castes in India provide an example of

(A) Formal group (B) Socia group

(C) Reference group (D) Secondary group
gR0BBY TOSF AN PVTIOTTTE TN,
(A) BTe3008 Mo (B) =mo=0us MO
(C) =TO Moo= (D) [PBWE mHOT

37) Who among the following can be called as a community?

(A) Thepeopleof Indiaorigin (B) Thelndian Society

(C) Student union movement (D) Kashmiri BrahmininDelhi
33 FINTRNYY OIPRTI, ATNTONTOT THTSHWTIT?

(A) 20080 BRVT BIT (B) 290080 R0

(C) QB FoTT BHTP (D) BmI0H 580 LTEOT

38) Who recommended the three tier system of Panchayat Rqj -

(A) Simoncommission (B) Bawant Rai Mehtacommittee
(C) KakaKaekar committee (D) Ashok Mehtacommittee
R TOING TOWOWSE T wéw;\jpojamol ST [IRRTWETITO?

(A) 2T BRI (B) 200z=0 ToOSF TBI0 FWES
(C) w07 BToSeerfs0® BN (D) ©3ne3 TS 3N

39) Which state in India has lowest sex-ratio according to 2011 census?

(A) Uttar Pradesh (B) Bihar

(C) Hariyana (D) Punjab

20113 &=JINRS0D TFoT ¢0TZT 03TV ansécjeg 98 BRI DOMOTOINT?
(A) @ITTT[es (B) x0T

(C) 0oc3med (D) =ozzoew®

(PT.0))
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40)

41)

42)

43)

Internet based fraud is an example-

(A) Whitecollar crime (B) Cybercrime

(C) Organizedcrime (D) Corporate crime
YOBTUPWO SPOT  PBeRY T3 FINT CBRRTY, LVTOBIBAIRNG.
(A) 09 BRTITY VTP (B) AT wzoeg

© wéws&s Shsepia (D) oBerdes ©9TTF

Who coined the term symbolic interactionism?

(A) C.H.Cooleg (B) Herbert Blumer
(C©) GH.Mead (D) E. Goffman
"TDOEEST WOBT BTV’ B3 TWRBTY, VeRTBT?

(A) 2.0F. 3RS (B) mwrers wR@dd”
(C) .. oew® (D) @ MFTRT®

Which one of the following communities are practicing matrilineal system in
Karnataka?

(A) Vokkaigas (B) Kurubas

(C) Ganigas (D) Bants

FIOFWTTY m%woma@ eﬁc;p@ FYTOT® O30T ARNTWCORTY 506333363%53?
(A) 39nTd (B) 33020

(C) modnd (D) woez

Which one of the following is not used for identifying socia stratais?

(A) Occupation (B) Income

(C) Education (D) Inteligence

83 IENTYNYY CIPRTH [oTPLE AT MONERRY 298cDY ay?
(A) wvddeen (B) emo0od

(C) 3zeo (D) m@@ﬁo@%
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44) Under which article of the constitution has untouchability been abolished?

(A) Article-15 (B) Article-16

(C) Article-17 (D) Article-18
BONGOT 39T T LTTBIOD @ﬁw@sééojamol QTeHTONT?
(A) oyem - 15 (B) wvxem - 16
(C) wdgerd - 17 (D) wdLexs - 18

45) Culturd diffusonrefersto
(A) A process by which cultural traitsin one society spread to another society
(B) A process of absorption of a sub culture by a dominant culture
(C) A process of integration of one culture with another culture
(D) A process of blending of one culture traits with another
007, 83 TRTE2RWOTT —
(A) 20T BZPRT mz’é@éodao YIROT FRPRBY BIWH TFOHOITNT
(B) Two Fom scipolnt ¢vEmOF 080w AdesneshE TFohodwNg
(C) o xoﬁé@éoﬂ@oaﬁ geoRelay zox@@ DBCFTEOMDRT)TD
(D) 20T xox@@osa BN QBR,0TH xox@%o&@q SNIJEDTIOMITH T

46) The Chairman of first “Backward Classes Commission” constituted by government

of Indiawas-

(A) B.PMandal (B) B.R.Ambedkar

(C) KakaKadedkar (D) SirLedieMiller

R0 ATOFT [EWAT FIRTO LONYT JNFNT TR BHID
(A) .. Do (B) R.uT. woderws®

(C) =8 wde)T® (D) mor Smrde QYT

47) Which among the following govern population pattern?
(A) Birth, Deathand Marriage
(B) Birth, Educationand Marriage
(C) Birth, Death and Migration
(D) Birth, Death and Occupation
88 ISNTIPNYY SRR BIHOATY, WRTWOODZY, DT ORIV
(A) IS, DT DB DB
(B) =TI, d3eo =) Do
(C) =3I, =T DD, T
(D) =T, =HTeo ) vBREA

(PT.0)
M -5410 [13]



48) The death of children below one year of lifeisknown as -

(A) Childmortality (B) Intra-uterian mortaity
(C) Neo-natal mortality (D) Infant mortality

WO WRIET WSNT ms;; RN ert sBORVTTY?

(A) 3$ BT (B) ngrads e @oo
(C) Iz ¥ NTed (D) &z>z0Ted

49) Who of thefollowing said “Industries are the temples of Modern India’?

(A) IndiraGandhi (B) M.K.Gandhi
(C) Jawaharla Nehru (D) Jamsedji Tata
“TOTVF NN BT GRITBT =NOTNR” Q0T TBELTRTOT?
(A) ot Moy (B) »0.3. mood
(C) mTBT°R IZD (D) #E=F3rele 0

50) Reproductiveageis-
(A) Adge between puberty and menopause
(B) Adgebetween first child birth and last child birth
(C) Age between first birth and menopause
(D) Adge between puberty and last child birth
BOTORRESION T[ONEY DOTT —
(A) D ) 90TLF FRJARWR)TT SWIS TODRY
(B) SpT® ) 3AF0H T JOR0D TEIT SO
(C) Seue ToR BB 9T, EAIRANRTT ST [ODRY
(D) 0D 303 380N DRT JORNY IBNT TR

M-5410 [14]
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10.
11.

12.

WRRTRER B3Sned
£.20.5T°. @033 TYD 3R 50 TINTR, BROODT IJRED IRBT T,
TORFEI, DI QETSONT.
BRYTB TF, TATH), ey TOFR G0, TPRILOBIT  DWODE FOWOHATE
ROLVTI, TOHEDRT.
w23 wé%oja mada‘n nlgtclovilelniiiciolovite) DB @)%wgéomozs 8.200.87°. QVZT
m@oﬁaa‘n IBRINA :%ﬁm 8.20.50°. YT TYONY TTRT, [IELIOPTZY, 350850.
3R m%éo&oé Dey IRRBCDYT DT|TRTTY, B0 ésaf‘mmcjd, amé St
ToFOR m‘%@émws TRONTY  YVOWRME  TOTBNYR ﬁéojoiﬁmﬁ QesIe
%L BTINTLEED.
TOeBODH AHODTY:
&  TEIOIROTD TIODI, PNRZWOT L.OD.
b B& IBod IR QeRBNT Towy, v SoYNYY w308 FORH/ ARTT
NZTIR, IGFOR.
C) %.00.850°. TPORYT BOWORAT FTI0N = TYTOTHY, FOTRLDF N BVOWD.
NTPTTHN, BF, VDY TY, FosS, 83 “C" BooIRT wwITHNTT, ded /3T toe*
TOONOET T W L.D0.8T. YIT TOYOD T M0, 83 IN0T 38 FYNTOZ
30020:
3 %088 B @ @ O (T =0F) (2 TOWOLT I [N YoTdRN)
emédzﬁ wawgwdéosa 2TZEIROD, (BB 307) T3, BIFONY eBNAT 2D PRTY
mzﬁe mcézﬁeﬁa (80.00.83T°. em:%d m@oﬁa@ Mdmdm)
200 ADFF JB 0TIOS ézﬁa mgmwm MOSFRNT T, YOBHT YVZTB/I),
3T RO wam@xmmgd még O3RPTe WOBB, ARBLRNPRY. &.00.85T°.
TPONDT YVTRTBTFH SRCR.
VPR ) BRTR fme%md%ds QOF FHRAT %@GQ 20.20.83T°, TOPOD e Do
BIOTLICR.
ChTaleny waeiofn J03BT BRTE dvee%mdsaﬁ R 8.00.85T°. VBT T¢I
&%&m@@oﬁad o,j\%odao“sacl LoOTONT LR,
LB HFOI T3, TFIRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
ST, TBewT® DI FRYT FRETY, TOCTY IRTROD ¥t WDTDSTRTDYHOL.
@waro:ba cﬁaa’%édeﬁ éracéﬁdaaj)m %océmodd WOTHZ WPHFODIY, BRCFER
w@ﬁsé Uorb@@@ ) AONTNY TFoT WOITH e.-m@?ods AT Em %mw@m@m
83 Tde3 JOeToRY SBETORED 2., 50 @osm@ SC/ST/Cat I @83@?71%‘50 3F 8
eﬁo%mfa’n OBC @zﬁ@rmﬁo LR 9 WOBNYIY, m:ég QBT @Zﬁ@&-‘ﬁ% BT, 10
@o-szﬁef,ﬂmel wcgofoézid% .
£.990.850°. TP, oWy BAWRNA
B3O3ROW TIJR 2.0T3¢ WO WFO0T BLRFTOT/IO0IIT YVITITIT.
BE TJ 20D F[ITRWW, [P, D OPTD T LS TR0 TIQ0T &I,
BOWIFIN, YITBIZ), WRTEBILY TOD Te3eR.
B TBRINTOB TR Fo0HTITOZ 3 I, FOTPEIF =N BOLVTHT.
8.20.80°. TYODY CIPFTE BTVTJF MNWNTI, SRBLCR.
SUBORE TITY 2.e3) Ro3cw, O.M.R. modedy) AMOTBADLT RRSY IHROTZR,
99me3Y O.M.R. 2o¢0dm), SPOBRTTY, BONRSDIOY.

Note : English version of the instructions is printed on the front cover of this booklet.




